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1 次の式を簡単にせよ。 

(1) 117     (2) )11(5     (3) 123  

 

 

 

 

 

(4) 7)6(     (5) 327     (6) )2(10   

 

 

 

 

 

(7) )18()2(    (8)  )13(39    (9)  2)32(   

 

 

 

 

 

2 次の数を変形して a の形にしなさい。 

(1) 53    (2) 52    (3) 37  

 

 

 

 

 

(4) 29    (5) 
5

2
   (6) 

4

10
  

 

 

 

 

 

3 次の数を変形して ba の形にしなさい。 

(1) 18     (2) 24     (3) 180  

 

 

 

 

 

 

4 次の数を変形して
b

a
の形にしなさい。 

(1) 
16

5
    (2) 

36

11
    (3) 03.0   



【解答】 

1 

(1) 77  

(2) 55  

(3) 6 

(4) 42  

(5) 3 

(6) 5  

(7) 
3

1
 

(8) 3  

(9) 4  

2 

(1) 45  

(2) 20  

(3) 147  

(4) 162  

(5) 
25
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(6) 
8
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(1) 23  

(2) 62  

(3) 56  
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